Sensor & Instrumentation

RIRIVRIE /GRS

—2FNEN. RSN
Model P4501

I a AN

®m NESEE 0-5KN~0-200KN
B ZMERS/ 0.05%F.S.
B RO HEGES AR

B REEAR 2mVNV

B RRESWIR

S

ik vz | -

Pas01 FHMERAENEBEE—TuERe RERENEE  REFESN , Banksy
PR, SRNTTaemumsisr L2y BaFAactin=2aaolE. o By
PP ST O FERRIAT 1 2 SR D 0 oA AR, &
IR MBS, Rt | RERE ;ﬁgﬁ;}gi
IRSMAHRINRE | RUTRETEIMR, WG | g o
LA mV RRUMES. BESESHARE PT500 R g5 s idie SR
BIFTE  BISEIME SRR, 0-+ 10VDC B, 0-25VDC  m  SesZL LR RIS
SIS S, s AR

HEBaEmRETEIRAT BBiE : 021-60543680 15E : 021-61294052 Rjit : www.pandauto.com HEFE : info@pandauto.com




PandAuto
Sensor & Instrumentation

SRR (BB : mm)

BS WESBE DA ®B M dG E F

P4501-5KN 0..£5KN 105 88.9 M16x1.5 6.5 34 37
P4501-10KN 0..£10 KN 105 88.9 M16x1.5 6.5 34 37
P4501-20KN 0...x20 KN 105 88.9 M16x1.5 6.5 34 37
P4501-50KN 0..x50 KN 105 88.9 M16x1.5 6.5 34 37
P4501-100KN | 0...£100 KN 125 101.6 M32x1.5 8.5 48 52
P4501-150KN | 0...£150 KN 125 101.6 M32x1.5 8.5 48 52
P4501-200KN | 0...£200KN 125 101.6 M32x1.5 8.5 48 52

BAEH

RS E

FIAfFEBRE ( 217 ) : 350Q~700Q
BEHH 45

e RRESAIENFRE : 5~10VDC
REYE : 2mV/V (HRFHE)

JREFRIR - BxK 40 mA,

TFRE : -10°C~70°C,
RETEEE TAEEEIRAIRN :
BRUBZEFRE : £0.05%F.S./K
ERERE TRERE : £0.05%FS./K
£ - <0.05%FS.

BRAHA | MBS EEHATA) 130%

(ERkEESIBIENX :

LT EBLY5 « Exciation- {ERASE{HEEEER-
R4S | Exciation+ (ZRAESHLESFEIRIE+
LRS- Sensor+ (EREBMESIE+

EIEB£545 : Sensor- {SRISHEE - pd
EEIELYS ; shield [l O
e s
Bk SRRA S s =~
BPEELR - IP54 o

BE :30-70% , TEE WT (e
|

S

BB aEEmREIRAT BBiE : 021-60543680 {5E : 021-61294052 Kl : www.pandauto.com HEFE : info@pandauto.com

(Fr=RErRiNFEZ= PandAuto FF | REBIURSRIEEH]



